Why Are Babies Like Hinges ?

Simplify each expression below and find your answer in the set of answers to the right of that
exercise. Write the letter of your answer in the box that contains the number of that exercise.

b7

EIY[R|E]E

"

MEIRRIN

O[A[D

g_j 0 @ & -5 (&) 2n® ® 2n°
o | O&E T Es
- n S e 2
ne o W = ® = ® =
L& 28 Tl Bxy® o —4x3 xy>
® =T © 1265 3% % —4y* % 4y
@ —8x°y? e 20052 e 5 5
2x%y? ¢ —5x% ' ® 3x%y° © 3xy*
b . o3 —24a°b _ | 5ab® 15a°
932b5 — 3/\;: @ 183b5 0 ’f‘;%'j % 5ab6 % 15:3
o 1 g 30a°p® | 4 3
e 00 0atp2 /50’ @ __é% @ ?31_3
8 4.,,10 £ i 2 :

By eyt (@ T i % =
B o 7 .
%6u’v = B ZBURYe gl L. %“%

14k°m?® s —3k°m° : 4

o ms - " % 7:: % 7_‘::::13
i’ﬁm.z_ - _w_\___, 12km3 o ,’5\;_\ 1 1

16k°m®  Ariim —4m® @ = B s
i 12134 ]5]6]7]8]9 ] 10]11]12]13]1a]15]16]17]18]19]20

D e

76

ALGEBRA WITH PIZZAZZ!
© Creative Publications

OBJECTIVE 3-a: To divide monomials.



